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No3 =| Conditionl =[Sec(0) < 0], Condition2 =| Sin(0) = , Quest =Tan(0) |, ,
x [L}
04 = [ Conditionl = [ Cot(0) = -6 ], Condition2 = [ Cos(0) < 0], Quest =Sin(0)], (
m . : 4 )
No5 = {A =0,B= E, Condition = [ Sin(0) = g}, Quest =[Cot(0) + COS(@)]:|, , {—(}
No6 = {A = 5, B =n, Condition = {Cos(@) = ?}, Quest =[Cot(0) + Csc(@)]},
3w -7 ] :
No7 [A :n,B:T, Condition :[Sec(e):?}, Quest = [Sln(6)+Tan(6)]}, ,{ '

N08—[A =7, B =2, Condition =[Tan(0) =-1], Quest = [Sec(0) + Sin(e)]}, {ﬂ}
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TrigonometryExercise3 for No.9872
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2
No3 = [ Conditionl =[Sin(0) < 0], Condition2 = |:COS(9) = g}, Quest = Tan(e)}, ,

EHE

No4 = [ Conditionl =[Tan(0) =-7], Condition2 =[0 < Sin(0) ], Quest = Cos(0)], , [

=

No5 = {A =0,B =§, Condition = [Tan(e) =§}, Quest =[Cos(0) — Sin(e)]}, , [

) ~
s

|

3n -4
N06:[A :7’ B =2 n, Condition :[Sin(e) :7}, Quest =[Sec(0) — Cot(@)]}, ,{

|

g

No8 = [A =m,B =37n, Condition = {Tan(e) =%}, Quest =[Csc(0) — Sec(e)]}, , { v
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N07=[A =§,B= n, Condition = [Sec(0) =-2], Quest =[Csc(0) — Cot(e)]}, ,{
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TrigonometryExercise3 for No.9873
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2
No3 = [ Conditionl =[Cos(0) < 0], Condition2 = [ Sin(0) = 5}, Quest = Tan( 9)}, ,

B

No4 = [ Conditionl = [ Cot(0) =-6], Condition2 =[0 < Cos(0)], Quest = Csc(0)],

b

No5 = {A =0,B =§, Condition :[Sin(e) =§}, Quest =[Cos(0) — Tan(e)]}, , [

Nob6 = {A =m,B= 3771’ Condition = [Tan(e) = g}, Quest =[Sec(0) + Sin(e)]}, , [

No7 = {A =§, B =, Condition = {cm(e) =ﬂ, Ouest = [Csc(0) + COS(@)]:|, ,

*\‘j?W‘K‘:iT
e |

N08={A =3TTE, B =2, Condition =[Csc(0) =-4], Quest =[Cot(0) — Cos(@)]}, ,{ }
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No3 = [ Conditionl = [Tan(0) < 0], Condition2 = |:COS( 0)=

|
|

%}, Quest = Sin(e)}, ,[ (

No4 = [ Conditionl = [Tan(0) = 3], Condition2 = [Csc(0) < 0], Quest =Sin(0)], , [ (

é},Quest:[Sec(O)—Sin(O)]}, {ﬂ

5

T
N05=[A =0,B=—", Conditi0n=[C0t(e) =

| I |

2 2 o
3 6 , o
No6 = {A =7, B :7’ Condition = [Tan(@) = ;}, Quest =[Cos(0) + Sm(@)]}, , [—(}
T -12 )

No7 = {A =5, B =, Condition =[Sec(9) =?}, Quest =[Cot(0) + Csc(e)]}, , {—(}

3 y 5 | )
No8 = [A =7, B =2 n, Condition = [Cot(e) =;}, Quest = [ Sec(0) + Sln(e)]}, , {—(}
[Page = 0004] :

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢



X

):9:9:9:9:9:9:9.9:9.9.9.9:9.9:9.9:9.9:9.:9:9.9:9.0.:9.9:9:0:9:0:9:0:9:0:0:0:9:0:9:0.:9:0.9:0.9.9.9.0.9.0.9:0.9.0.9:0.9:9.9:9.0:9.9:9.9:9:9:9:9:9:0:0:0:0:0.:9:9.9:0.9.0.9.9.9.0.9.0.9.0.9:0.9.0.9:0.9:0.0:0.0:0.0:0.9:0:9:0:9:0:9:0.0.0:0.¢
D ERYIERAICIYIHIND 0:0:0:0:0:0.0:0:0:0:0.0.0:0:0:0:0.0.0:0:0:0:0.0.0:0:0:0.0.0.0:0:0.0:0.0.0.0:0:0:0.0.0:0:0:0.:0.0.0.0:0.0:0.0.0:0:0:0:0.0:0:0:0:0.:0.0.0.0:0:0.0.0.0:0:0:0.:0.0:0:0:0:0.0 (U S YA W IV ICTUC T 0 [0 1 0101530 ¢
TrigonometryExercise3 for No.9885
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1
No3 = [ Conditionl = { Sin(0) = —} Condition2 = [ Tan(0) < 0], Quest = Sec( 6) {

wj

| I

No4 = [ Conditionl =[Cos(0) < 0], Condition2 =[Cot(0) = 1], Quest = Csc(0)],

l—|

N05:[A:0,B:§, Conditionz[Cot(e)zg} Quest =[Sin(0) — Cos(e)] ,[ }
o T
06=| A= 5 , B=2mn, Condition =[Cot(0) =-2], Quest =[Cos(0) — Csc(0)] ,
5 Conion=| Tt =3 ][ 7]
No7 = Azn,BzT, Condition = Tan(e):; , Quest=[Cos(0)—Sin(0)] |, ,| ——

[ n y | } {V:)}
No8=|A4= 2,B=TC, Condition = [Sec(0) =-3], Quest =[Sin(08) —Cot(0)] |, , (
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TrigonometryExercise3 for No.9895
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1
No3 = [ Conditionl = [ Sin(0) = —} Condition2 = [ Tan(0) < 0], Quest = Cos( 9)

No4 =

h\g

1

[ Conditionl = [Tan(0) =-6], Condition2 = [0 < Csc(0)], Quest = Csc(0)], [

[ no } [f

No5 = A—O,Bzz, Condition =[Csc(0) =21, Quest =[Cot(0) + Cos(0)] N
3 -9 .

Nob6 [Azn,BzT,Condition:[Sec(G):Z},Quest:[Sln(6)+Tan(6)]} ,{ }

N07—[A=7,B:2n,Conditionz[Sin(G):%},Quest:[Sec(G)—Cot(e)]}, ,{

No8 = [A =5, B =n, Condition = [Csc(e) = %}, Quest =[Cos(0) — Cot(@)]}, , {
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No3 =| Conditionl =[Cot(0) < 0], Condition2 = Sln(e)— , Quest = Sec(e)
No4 = [ Conditionl = [0 < Sec(0)], Condition2 = [ Tan(0) =-6], Quest = Sin(0)], {L(}
T
N05:{ =0,B=—",
2

A=0,B=—, Condition =[Csc(0)=4], Questz[Cot(O)JrSec(e)]} ,[

No6 [A =mn,B= 7’ Condition = { Sec(0) = ?}, Quest =[Tan(0) + Csc(O)]} , {
No7 {A —g B=m, Condition:{Cos(e)z?}, Quest=[Cot(0) + Sin(e)]} ,[
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No8 =| A=—"—,B=2n, Condition = Csc(9)=3,Quest=[Cos(9)—Cot(9)] ,
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1
No3 = [ Conditionl = |:COS( 0)= 5}, Condition2 = [ Csc(0) < 0], Quest = Sin( 6)}, , |:

L 1

No4 = [ Conditionl =[Sin(0) < 0], Condition2 =[Tan(0) = 5], Quest =Sec(0)], , [

No5 =[A =0,B :g, Condition =[Csc(6) 22}, Quest =[Sec(0) — Tan(e)]}, ,{

1

T = f}j

=[5 <
L 1

1

3n 3
No6 = {A =7, B :7’ Condition = [Tan(@) = Z}, Quest =[Cos(0) + Sin(@)]}, ,

=[5
| I

N07:{A =§,B:n, Condition =[Csc(0) = 2], Quest = [ Sec(0) +Tan(9)]}, ,[

|
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No§ = {A =7n, B =2, Condition {cm(e) =ﬂ, Quest = [ Sec() + CSC(@)]}, {
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1
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [Cos( 0)= ;}, Quest = Sin( 6)}, ,

No4 = [ Conditionl = [ Tan(0) = -2 ], Condition2 = [ Csc(0) < 0], Quest = Sin(0)],

o
T N 2 )

No5 = [A =0,B =5, Condition = {Cot(e) = ;}, Quest =[Sec(0) + Csc(e)]}, , [_(}

3m 1 . ﬁ

No6 = [A = B =2 n, Condition = |:COS(9) = ﬂ, Quest =[Sin(0) — Tan(e)]}, ; {_(}

3n . 7 )

No7 = [A =m,B= 7, Condition = {Cot(e) = g}, Quest =[Csc(0) + COS(@)]:|, , {_(}

No8 = [A = g, B =m, Condition = [Csc(@) = %}, Quest =[Cot(0) — Sec(e)]}, ) {L()}
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TrigonometryExercise3 for No.10000
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3 37 |
I="— 6= _ _
2 4 1=90° 6=(-2670)°
L, I 2=240°  .7=(-1860)°
3 6 3=(-135)° .8=(-2835)
S5n 11mn o
Nol=|.3=-" 8= , No2 = . 90
4 3 4=150 9=|—
T
4== 9=3 0
T 6 : B o B 450
5=(-2520)° .10=|-——
7m L T J |
S=——— .10=-65
i 2 ]

No3 [Condm'on] =[Tan(0) < 0], Condition2 =[Sin(6) = l} Quest = COS(G) [ () }

No4 = [ Conditionl = [ Tan(0) = 4], Condition2 = [Sin(0) < 0], Quest = Sec(0)] [

&S

1

!

| wn=| o013 | b2

No5=|A4=0 B_;’ Condition =| Cos(0) == |, Quest =[Cot(0) — Csc(e)] N B
T

(
No6 [A = 5, B =, Condition :[Sin(G) = 1} Quest =[Cot(0) + Cos(@)] , {—}
3n

(
No7 [A—T,B=2n, Condition:[Csc(e)z%}, Questz[Cot(O)—Sec(e)]} ,

_-)}
A
No8 [A m, B = Condition = [Sec(0) =-2], Quest =[Csc(0) — Tan(e)]} , [L()}
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TrigonometryExercise3 for No.10017

i 517 |
I== .6=— _ _
4 1=270° .6=(-1200)°
P A 2=240°  .7=(-2190)°
6 6 3=225° 8=2025°
2n 34ﬂ o
Nol=| 3=—"" 8= ,No2 = o 180
3 3 4=150 9=|—
3n "
5=(-2610)° .10=|—
197 L T /)
S=-— 10=55

1
No3 = [Condmon] [Cos(0) < 0], Condition2 = [Sln( 0)= —} Quest = Tan( 9)

\ﬁ\j

| |

No4 = [ Conditionl = [Sec(0) < 0], Condition2 =[Cot(0) =2], Quest = Csc(0)], [
No5=|A4=0,B =;, Condition =| Sin(0) =— , Quest =[Cot(0) +Sec(0)] |, ,| ——

| [ m
No6=| A= 5, B =m, Condition =| Sec(0) = Quest =[Tan(0) + Csc(@)] N
3n 11 1o

N07={A=T B=2m, Condztzon—{Csc(G)— } Quest—[Sec(9)+Tan(9)]} ,[—(}

3n 4 . «/7
No8 = A=n,B=T, Condition = Cot(O)zg , Quest =[Sin(6) —Sec(0)] |, ,|——
X [Page = 0011]
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TrigonometryExercise3 for No.10025

[ T 211 |
I=—  6=- _ _
2 4 1=270° 6=1035°
L 4 B 2=(-225)°  .7=2280°
3 3 3=150° 8=1650°
T 85w o
Nol=| .3=— 8= , No2 = . 270
6 6 4=(-300)° .9=|—
3n S
.4:— 4 9:4 o 990
5=2520° 10=|-—
171t L T A
S=-= 10=65

No4 = [ Conditionl =[Csc(0) < 0], Condition2 =[Cot(0) =-6], Quest = Sin(0)],

b

1
No3 = [ Conditionl = { Sin(0) = Z}, Condition2 = [ Tan(0) < 0], Quest = Sec( 6)}, , {

1

No5 z[A =0,B zg, Condition =[Tan(6) :%}, Quest =[Sec(0) — Sin(e)]}, ,[

T
N06:{A :T,B: 2, Condition = [Csc(0) =-2], Quest =[Cot(0) + Sec(@)]}, ,

Spa

§

n 5 8 /)
N07:{A :E’ B =, Condition ={Cot(6) :7}, Quest =[Csc(0) — Cos(e)]}, ,[—(

=825 Comtion = o)< | ][22
No8 = A=n,B=T, Condition = sln(e)=; , Quest =[Cot(0) —Sec(0)] |, ,| ——

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

|

~

| |
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TrigonometryExercise3 for No.10057

i 150 |
I=m 6= _ _
4 1=270° 6=12565°
P A 2=(-135)°  .7=750°
6 6 3=240° .8 = 2460°
T 28 o
Nol=| 3=-—— 8= ,No2 = o 360
3 3 4=(-30° 9=|—
sm "
.4= 4 9:7 o 450
5=(-2160)° .10=|—
27 L T |
5=c 10=0.5

1
No3 = [ Conditionl = { Sin(0) = Z}, Condition2 = [Sec(0) < 0], Quest = Tan( 6)}, ,

1

B

No4 = [ Conditionl = [Csc(0) < 0], Condition2 =[Cot(0) =4], Quest = Sec(0)],

2

No5 = [A =0,B :g, Condition = [Tan(@) :g}, Quest =[Sec(0) + Csc(e)]}, ,{

I

3n 1
N06:{A =T,B =2 m, Condition :[Cos((?)) :Z}’ Quest=[Cot(0) + Csc(e)]}, ,[

|

N07=[A zg, B =, Condition :[Sin(e) :15—2}, Quest =[Cot(0) — Sec(e)]}, ,[

|

3w 6 | b
No8 ={A =m,B =7’ Condition =[Tan(9) =;}, Quest =[Sin(0) — Cos(e)]}, ,[—(}
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TrigonometryExercise3 for No.10061

[ R 13 1|
I=—"— 6= _ _
2 4 1=180° .6=(-1395)°
Lol DO 2=(-300)° .7=(-2760)°
4 3 3=135° 8=750°
47I 237I o
Nol=| 3=— 8= , No2 = . 360
3 6 4=210° 9=|—
11x "
.4=— 6 9:5 o 540
5=2610° .10=|—
191 L T /)
=T 10=45

1
L1

3
No3 = [ Conditionl = { Sin(0) = ;}, Condition2 = [ Tan(0) < 0], Quest = Sec( 6)}, ,

No4 = [ Conditionl =[Csc(0) < 0], Condition2 = [ Tan(0) =-7], Quest = Csc(0)],

b

1

=[5
|

No5 = [A =0,B zg, Condition = [Cot(e) =§}, Quest =[Csc(0) — Cos(e)]}, ,{

T
| I I S

No6 = [A :g, B =, Condition = |:CSC(9) - ﬂ Ouest = [ Sec(0) — Tan(@)]}, , {

3 4
N07=[A ZTE,B =2 n, Condition z[Cos(O) =;}, Quest=[Cot(0) + Csc(e)]}, ,[

o o] [
No8 = A=n,B=T, Condition = [Sec(0) =-5], Quest =[Sin(0) + Tan(0)] |, , —(
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TrigonometryExercise3 for No.10071

3m 43 1
J=—  6=- i i
2 4 1=90° 6=1470°
S L, __B= 2=(-60)° .7=(-1920°
3 6 3=315° 8=2385°
lln IOR o
Nol=| 3= 8= . No2 = . 180
6 3 4=210 9=|—
s "
.4= 4 9:1 o 720
5=(-2520)° .10=|—
17 r L T A
5== 10=-05

3
No3 = [ Conditionl = [ Sin(0) = g}, Condition2 = [ Cos(0) < 0], Quest = Tan( 9)}, , [ }

No4 = [ Conditionl = [ Tan(0) = -2 ], Condition2 = [ Cos(0) < 0], Quest =Csc(0)], , [—(}
No5 = {A =0,B= g, Condition =[Sin(9) = %}, Quest =[Cot(0) — COS(@)]:|, , {—}

Nob6 = [A :3775, B =2 n, Condition :[Sin(e) = %}, Quest =[Cot(0) + Sec(@)]}, , {—}

No§ = {A =§, B =, Condition = {Tan(e) =ﬂ, Ouest = [ Sec(0) + Sin(e)]}, , [—()}
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TrigonometryExercise3 for No.10088

3 237 |
I=— 6= ) )
2 6 1=180° .6=(-420)°
Lo 2%, 46 2=60°  .7=855
3 3 3=135° .8=1230°
77 57w o
Nol=| 3=—7 §=- , No2 = o 360
4 4 4=330° 9=|—
T
4——1£ 9=7 0
T 6 ‘ B 0 [ 900
5=1350° .10=
21 7 L T
S5=-= 10=65

4
No3 = [ Conditionl = {Cos( 0)= 5}, Condition2 =[Sin(0) < 0], Quest = Tan( 9)}, ,

No4 = [ Conditionl =[Cos(0) < 0], Condition2 = [Tan(0) =-2], Quest = Sin(0) ],

T
N05=[A ZO’B:E’ Condition :[Sin(e) =

No6:{A=n,B

2

1

o=

| I

3}, Quest =[Cos(0) —Tan(G)]}, ,[

T
= 7, Condition =

| IS

[Cot(@) :g}, Quest =[Cos(0) + Sin(e)]}, ,[

=[5
|

[Page = 0016]

N07:[A ZTE,B:2 n, Condition =[Sin(9) :%}, Quest=[Cot(0) — COS(e)]:|, ,[

No§ = {A _ = B—n, Condition =[Sec(9) _ %} Quest = [Cot() + CSC(@)]}, , {
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TrigonometryExercise3 for No.10385

[ 31w
A=z 6= _ _
4 1=90° .6 =600°
Lo Iz 2P 2=330°  .7=(-2670)°
4 3 3=(-240)° .8=(-2745)
K 67w o
Nol=| 3=—— 8= , No2 = . 360
6 6 4=225°  9=|—
=2 gy "
4= = U (630
5=1080° .10=|—
231 L T J |
S=-" 10=55

5
No3 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Sin(0) = ;}, Quest = Tan( 6)}, ,

BE

No4 = [ Conditionl = [0 < Sin(0) ], Condition2 = [ Cot(0) =-4], Quest = Cos(0)], , [

| IS

Nos = [A =0, B ==, Condition = {Tan(e) ) ﬂ Quest =[Cos(0)+ Sm(e”}’ ’ {

| S

3n 1
N06:{A =T,B =2 m, Condition :[Cos((?)) :g}, Quest=[Cot(0) + Csc(e)]}, ,[

N07=[A zg, B =, Condition =[Sin(9) 22}, Quest =[Cot(0) + COS(@)]}, ,[
1m0 o | |12
No8 = A=n,B=T, Condition = [Cot(0) = 1], Quest =[Csc(0) —Sec(0)] |, , —(
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TrigonometryExercise3 for No.10387

R 65m
I=—— 6= _ _
2 6 1=90° 6=(-1470)°
L, 23T 2=210° . 7=(-1575)°
4 3 3=(-120)°  .8=2460°
S5n 17n o
Nol=| 3=—" 8= , No2 = o 270
3 4 4=(-225° 9=|—
Y T o
4==?; 9=6 . 810
5=(-25200° .10=|-—
21 ¢ L T J |
5= 10=-15
i 2 |

5
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [ Sin(0) = ;}, Quest = Sec(e)}, , l:

NEHE

No4 = [ Conditionl =[Sin(0) < 0], Condition2 =[Cot(0) =2], Quest =Cos(0)], ,

No5 = [A =0,B =§, Condition :{Sec(e) zg}, Quest =[Cot(0) — Csc(e)]}, , [

o<F

Noéz[Azg,an, cOnditionz[Sin(e)zﬂ, Quest:[Cos(O)—Tan(e)]}, [ y }
o

Ao
(

);0:9:9.0:9:9.0:0:9.0:9:9.0:0:9.0:0:0.0:¢

1

3
N07=[A ZTTE,B:2 nt, Condition = [ Tan(0) =-1], Quest = [ Csc(0) + COS(@)]}, ,

3 9
No§ = [A B 7“ Condition = [ Sec(0) = ﬂ, Ouest = [ Sin(0) + Tan(e)]}, , {
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TrigonometryExercise3 for No.10914
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[ 37 |
I=m 6= _ _
6 1=270° .6=(-1755)°
Lo Ir L BT 2=(-45)°  .7=(-2640)°
6 4 3=(-300°  .8=1830°
2ﬂ 46 o
Nol=|3=-" 8= , No2 = . 90
3 3 4=150 9=|—
3n S
5=(-2790)° .10=|-——
omn L T
S=——— .10=05
L 2 4
1
No3 = [ Conditionl = |:COS( 0)=—"

6}’ Condition2 = [Csc(0) < 0], Quest = Sin(e)}, , |:

No4 = [ Conditionl =[Cot(0) = 2], Condition2 =[Sin(0) < 0], Quest = Cos(0)], , [
1
No5 = {A =0,B= %’ Condition = [Cos(e) = ;}, Quest =[Tan(0) — Csc(e)]}, , {

. 1

N06:|:A == B=2m Condition =[COS(9) =g} Quest =[Tan(0) - Sin(@)]}, {
T

N07={A :E’B: n, Condition :{Sin(e) =

SEnENENS

|

11}’ Questz[Cot(9)+Cos(9)]}, ,[ }
N08={A =mn,B =—n, Condition = [Tan(0) =2], Quest =[Sin(0) — Cos(e)]}, ,[
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TrigonometryExercise3 for No.10945

[ T 47 1t |
d=— 6=- _ _
2 6 1=180° .6=1740°
Lo 2, 20r 2=135°  .7=(-585)°
4 3 3=(-60)° 8=510°
T S99 ¢ o
Nol=| 3=— 8= , No2 = . 360
6 4 4=(210)°  9=|—
T
PRI 0
T3 ' o [ 240
5=2430° .10=|-
17 L T /)
S=- 10=45

5
No3 = [ Conditionl = [Cos( 0)= ;}, Condition2 = [Cot(0) < 0], Quest = Csc( 6)}, , {

No4 = [ Conditionl = [Sec(0) < 0], Condition2 =[Cot(0)=4], Quest =Csc(0)], , [

e e |

No5 = [A =0,B =§, Condition :{Sec(e) :%}, Quest =[Cot(0) + Csc(e)]}, , [

No6:[A =§, B = . Condition :[Sin(G) %} Ouest = [Cot(0) + Cos(@)]}, {
N07=[A = n,Bz%, Condition z[Cos(O) =%}, Quest =[Cot(0) + Csc(e)]}, ,{ }

3 § 1 /)
No8 = A=T,B=2n, Condition = Cot(9)=z , Quest =[Csc(0)—Sec(0)] |, ,| ——
[Page = 0020]
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TrigonometryExercise3 for No.10954

3n 657 |
A= 6= - -
2 6 1=90° 6=1935°
S S DE 2=240°  .7=(-2100)°
3 4 3=(-135)° .8=(-2010)°
i 20w o
Nol=| 3=— 8= , No2 = o 270
6 3 4 =330 9=|—"
T
i o
4: 4 9:5 o 810
S =(-2160)" . 10=|-——"
2l L T ) |
5= A0=-3.5
L 2 J
y 3 n(0)=1 [42
No3 =| Conditionl =[Sec(0) < 0], Condition2 =| Sin(0) =— |, Quest = Cot(e) "

No4 = [ Conditionl = [0 < Csc(0)], Condition2 = [ Tan(0) =-4], Quest = Sin(0) ], {

o

|
|

No5 z[A =0,B zg, Condition =[Sin(9) :%}, Quest =[Sec(0) — Tan(e)]}, ,[

3n -3
N06:{A :7,3:2 n, Condition ={Sin(9) :Z}, Quest =[Tan(0) — Cos(@)]}, ,[

N07=[A = n,B:32—n, Condition = [Tan(0) = 1], Quest =[Sec(0) + Sin(e)]}, ,[

|

n y -4 | )
No8 = {A =5, B =mn, Condition ={Sec(9) = ;}, Quest =[Sin(0) — Tan(@)]}, , [—(}
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TrigonometryExercise3 for No.10966

67w
I== 6=— _ _
6 1=270° .6=(-1410)°
L, L Ar 2=150°  .7=(-1920)°
6 4 3=300° 8=1665°
T 35® o
Nol=| 3=—— 8= , No2 = . 90
3 3 4=135 9=|—
n "
A4 =— 4 9=4 o 810
5=(-1080)° .10=|—
131 L T J |
5= 10=-65

4
No3 = { Conditionl = |:COS( 0)= ;}, Condition2 = [ Tan(0) < 0], Quest = Csc(0) }, ,

No4 = [ Conditionl = [0 < Sec(0)], Condition2 = [ Tan(0) = -3 ], Quest = Sin(0)],

3

|
|

1

NoS5 = [A =0,B =§, Condition :{Sin(e) =%}, Quest =[Cot(0) + Sec(e)]}, ,{

L1

3n -1
No6:[A ZT’B: 2 t, Condition :[Sin(G) =§}, Quest =[Sec(0) + Tan(e)]}, ,{

~ e
| S

N07=[A zg,B: nt, Condition = [Tan(0) =-1], Quest = [ Sec(0) + Csc(G)]}, ,[

3n » 8 1/7
No8 = [A =mn,B= 7, Condition = {Cot(@) = ;}, Quest =[Csc(0) — Cos(e)]}, , {—(}

(V102023 1D:9:9:9:9:9.9.9.9.:9.9.9.:9.9.9.9.0.9.0.0:9.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0:0:0:0.0:0.0.0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0:0:0:0.0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.9.9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.9.:0.0.0.0.0:4

X [Page =



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

D ERYEY AN CIVIHIED 0:0:0:0:0:0.0:0:0:0:0.0.0:0:0:0.0.0.0:0:0:0:0.0.0:0:0:0.0.0.0:0:0:0:0.0.0.0:0:0:0.0.0:0:0:0.:0.0.0.0:0.0:0.0.0:0:0:0:0.0:0:0:0:0.:0.0.0.0:0:0.0.0:0:0:0:0.:0.0:0:0:0:0.0 (U SYAEI W IV ICTIC T 0 [010)236) 0 ¢
TrigonometryExercise3 for No.11154

R 21w
I=— 6= ] ]
2 4 1=90° .6=(-2490)°
Lol B 2=30° .7=(-600)°
6 6 3=(-240)° .8=(-1575)°
27I 31 T o)
Nol=|3=—" 8= ,No2 = o 360
3 3 4=(-135)°  9=|—
== 9=6 e
T4 T e 240
5=1080° .10=|-
On L T /|
S=— .10=65
T2 ]

3
No3 = { Conditionl =[Cot(0) < 0], Condition2 = { Sin(0) = —} Quest = Sec( 9)

=

o

No4 = [ Conditionl = [ Tan(0) = -4], Condition2 = [0 < Sin(0) ], Quest = Sec(0)], [

\\3
| I |

No5 = [A =0,B= g, Condition = |:COS(9) = %}, Quest =[Cot(0) + Csc(e)]}, ,{

I

3n 1
No6:[A =m,B :7’ Condition ={Cot(6) =5}, Quest =[Csc(0) + Cos(@)]}, ,{

| I |

3 2
No7:{A =7n,3 — 2 . Condition =[Tan(6) =ﬂ, Ouest = [Cos(0) + sm(e)]}, [

<[5
| |

No§ = [A =§, B =, Condition = [Cos(e) ZES} Ouest = [Tan(6) sm(e)]}, , {
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| I |
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TrigonometryExercise3 for No.11191

i 37 257 |
1= 6= i} )
2 6 1=180° 6=1590°
Lo 4r B 2=(-120)°  .7=840°
3 3 3=315° .8=1035°
57 537 o
Nol=| 3=—"7 8= ,No2 = o 360
6 4 4=30 9=|—
T
T o
5=2610° .10=|—
77 L T
.5:7 A0=-45

1
No3 = [ Conditionl = |:COS( 0)= E}, Condition2 = [ Cot(0) < 0], Quest = Sin( 6)},

No4 = [ Conditionl =[Cos(0) < 0], Condition2 = [Tan(0) =-2], Quest = Sin(0) ],

—

BE

No5 = {A =0,B =§, Condition = [Tan(e) =§}, Quest =[Sin(0) — COS(G)]:|, , [

| IS

No6:[A =§, B =m, Condition = [ Cot(0) =-4], Quest =[Csc(0) — Cos(e)]}, ,[

E‘

o«

3n - ﬁ
N07=[A=n,B:7, Condition =[Tan(0) =2], Questz[Csc(e)—Sec(O)]}, ,{ ( }
3 y 3 | /)
No8 ={A =7, B =2 n, Condition ={Cos(9) =;}, Quest =[Cot(0) + Sln(e)]}, ,[—(}
X [Page = 0024] ‘
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TrigonometryExercise3 for No.11309

[ o 55n
I=— 6= _ _
2 6 1=180° 6=2310°
S, 2%, A9 2=240° .7=(-1680)°
4 4 3=(-210)° .8=1935°
1n 251 0
Nol=| 3= 8= , No2 = . 90
6 3 4=(315° 9=|—
4==  9=2 e
T3 T _ 0 _ Eigl
5=720° .10=
25 ¢ L T /)
5= 10=45

|

2
No3 = [ Condition] =[Cot(0) < 0], Condition2 = [Cos( 0)= g}, Quest = Csc( 6)}, , {

SEHE

No4 = [ Conditionl =[Cos(0) < 0], Condition2 =[Tan(0) =-7], Quest =Sin(0)], ,

| IS

Nos{A:o,B:%Condfrion=[8ec<e>=31,Quest=[Csc<9>—C°t<9”} [

=[5
L 1

3n -5
Nob6 = {A =7, B :7’ Condition :[Sec(e) :;}, Quest =[Cot(0) + Sin(@)]}, , [

3 1
No7:{A =7n,3 — 2 . Condition =[Tan(6) =ﬂ, Ouest = [Cos(0) + sm(e)]}, [

|
2 |
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N08={A _ = B=n, Condition {Cc)s(e) _ 52} OQuest = [ Csc(0) — Tan(@)]}, [
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TrigonometryExercise3 for No.12483

31w
I=m 6=— _ _
4 1=90° 6= 1485°
.2=”6’T _7=_776“ 2=30° .7=2580°

3=(-60)°  .8=1050°

51 10m o
Nol=| 3=—" 8=- ,No2 = o 270
3 3 4 =(-315) 9=
T
4 S_TC 9 1 (0]
4 B o B 720
S =(-1890)" .10=|—""
237 L T /)
b= 10=4.5

3
No3 = [ Conditionl = { Sin(0) = Z}, Condition2 = [Cos(0) < 0], Quest = Cot( 9)}, ,

o<k

1

No4 = [ Conditionl = [ Tan(0) =-5], Condition2 = [ Csc(0) < 0], Quest = Sin(0)],

2

L 17N

N05—[A—0 B—g Condition =[Sec(0)=5], Quest—[Sin(O)—Tan(O)]} ,{

.

|

n N 3 | o
No8 = {A =5, B =n, Condition = {Tan(e) =Z}’ Quest =[Sin(0) — Sec(@)]}, , [—(}
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Nob6 = [A T, B—% Condztzon-{Cos(O)— 2} Quest =[Csc(0) — Tan(@)] {

No7 = [A—%B 2T, Condztzon—[Sm(e)—ﬁ} Quest =[Cot(0) — Sec(e)] {

N
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TrigonometryExercise3 for No.12557

[ 3 29t
1= 6=- 3 i
2 4 1=90° 6=1395°
L A 2=(-225)°  .7=2190°
4 3 3=150° 8=600°
T AN o
Nol=| 3=— 8=-— , No2 = . 180
3 6 4=120 9=|—
T
4= 9=7
) 6 : B o B 810
5=(-720° .10=|—
3l m L T A
5== 10=25

1
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [ Sin(0) = —} Quest = Sec( 9)

\jh

No4 = [ Conditionl = [ Cot(0) =-2], Condition2 = [ Cos(0) < 0], Quest =Sin(0)], [

i‘

No5 =[A = O,Bzg, Condition =[Csc(0) =41, Quest =[Tan(0) + Cos(e)]} ,{

| S

3n -11
No6:{A =m,B :7, Condition =|:CSC(6) =?}, Quest =[Sec(0) — Tan(e)]}, ,[

L1

N07=[A :g,B =1, Condition =|:COS(9) :%}, Quest=[Tan(0) — Sin(@)]}, »{

=

N08=[A=3TR,B=21£, Condition=[Cot(9)=g},Questz[Sin(O)—Cos(e)]}, ,{ .(}

DG BT ISRV A D:19:9:0:0:0.0.0:0.0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0:0.0.0.9.0.0.0.0.0.0.0.0.0.9.0.9.9.9.9.9.0.9.9.9.9.9.9.9.9.9.9.9.0.0:0:0:0:0:0:9.9:0.0.9:0:9:9:9:9:9:9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.4




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

D ERIEY AN CIVIHIND 0:0:0:0:0:0.0:0:0:0:0.0.0:0:0:0.0.0.0:0:0:0:0.0.0:0:0:0.0.0.0:0:0.0:0.0.0.0:0:0:0.0.0:0:0:0.:0.0.0.0:0.0:0.0.0:0:0:0:0.0:0:0:0:0.:0.0.0.0:0:0.:0.0:0:0:0:0.:0.0:0:0:0.0.0 (U SYAEI W IVICTUC T [0 1 0)23:) 0 ¢
TrigonometryExercise3 for No.12637

i 3n 59 1 |
l=— 6=- _ .
2 6 1=180°  .6=(-2820)°
L, = 2=225° 7=2115°
3 4 3=30° 8=930°
lln 161I o
Nol =|.3= == ,No2 = o 270
6 3 4 =300 9=|—
T
4:£ 9:4 o
Ty ~ 0 [ 240
5=(-1080)° .10=|-
191 L T
5= 10=15
L 2 i

2
No3 = [ Conditionl = {Cos( 0)= ;}, Condition2 = [ Tan(0) < 0], Quest = Sin( 9)}, ,

| — R D |
I

1

No4 = [ Conditionl = [ Cot(0) =-2], Condition2 =[Sec(0) < 0], Quest = Csc(0)],

No5 = [A =0,B =§, Condition = {Cot(e) 23}, Quest =[Sec(0) + Csc(e)]}, , [

1
No6 = {A :g, B =, Condition = |:COS(9) :ﬂ, Ouest = [Cot(0) Sin(@)]}, [
i ) -2
N07=[A :7’ B =2 n, Condition =[Sln(9) 27}, Quest =[Sec(0) — Cot(e)]}, ,

3
No§ = [A _n, B =7n, Condition = {cm(e) =§}, OQuest = [ Sec() + sm(e)]}, , {
X [Page = 0028]
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TrigonometryExercise3 for No.12689

[ 17 1 |
I=m 6=— _ _
3 1=90° 6=2760°
L,o.x = 2=240°  .7=(-2115)°
4 4 3=135° 8=2870°
2 TC 13 T o
Nol=|3=—"— 8= , No2 = . 90
3 6 4=(-210° 9=
S5n T
.4= 6 9:3 o 810
5=(-2880)° .10=|—
7T L 0 A
S5=— 10=65
L 2 |

No4 =

2
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [Cos( 0)= —} Quest = Sin( 6) {
[ Conditionl = [ Cot(0) = 2], Condition2 = [Sin(0) < 0], Quest = Cos(0)], [

B

No5 z[A =0,B zg, Condition =[C0t(9) =§}, Quest =[Sin(0) — COS(@)]:| ,[
N06:[A :7’ B =2, Condition =[Sec(0) =4], Quest =[Sin(0) — Cot(@)]} ,
N07:{A=§,B=n, Conditionz[Sin(G)zi}, Questz[Cot(9)+Sec(9)]}, ,{ }

a0 %o o [
No8 = A=n,B=T, Condition = [Cot(0) =41, Quest=[Sec(0) +Sin(0)] |, ,| ——

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

Taﬁ

|
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TrigonometryExercise3 for No.13349

[ 37 351 |
I=—  6=- i} i
2 4 1=180° 6=2010°
Lo I, Dr 2=(-30°  7=675°
6 6 3=(-240)° .8=(-2280)°
27 T7 o
Nol=| 3=—  8=— | No2= . 90
3 3 4=(-225) 9=|—
4=—= 9=7 T
Ty . om0 [ 720
5=2520° .10=|-
25w L T
S=-" 10=-05

No3 = [ Condition] = [COS(@) - ﬂ Condition2 = [ Cse(0) < 07, Quest = Cot(e)}, : {—
Nod = [ Condition = [Tan(0) = -61, Condition2 = [0 < Cse(0)], Quest = Sec(0)], {

Nos = [A ~0,B =§, Condition = [ Sec() = 41, Quest = [ Tan(8) + CSC(@)]}, , [—()}

No6 = [A - g B =, Condition :[Sec(e) :%}, Ouest = [Tan(0) + CSC(@)]}, , {—
|

3 1
No7 = [A — B :77:, Condition =[Sin(6) =ﬂ, Ouest = [ Sec(0) Tan(e)]}, ,

N08=[A =37n,B= 2 n, Condition =[Tan(9) =§}, Quest = [ Sec(0) + Sin(e)]}, ,{ (
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TrigonometryExercise3 for No.13519
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3 327 |
I="— 6= _ _
2 3 1=90° .6=(-2565)°
L, U= 2=(-300°  .7=750°
4 6 3=(-225°  .8=600°
11r 47TC [
Nol=|.3= 8=-— , No2 = . 90
6 4 4=150 9=|—
2n "
.4= 3 9:7 o 810
5=(-2160) =|—
omn L T J |
S=——— .10=-45
i 2 ]
1
No3 = [ Conditionl = [COS( 0)=

4}, Condition2 = [Cot(0) < 0], Quest = Csc(e)}, ,

No4 = [ Conditionl = [Sin(0) < 0], Condition2 = [ Tan(0) =-4], Quest = Cos(0) ],

n 11
N05:[A :0,3:5, Condition {Sec(e):_

4 }, Quest = [ Sin(0) +Tan(9)]}, ,[

N06:[A =£,B: 7, Condition = [ Sec(0) =-3], Quest = [Cot(0) + Csc(@)]}, ,{
3

2

1
s
| I |

s

| |

N07:{A =—n,B:2 n, Condition = [Tan(0) =-1], Quest =[ Sec(0) + Csc(e)]}, ,

X [Page = 0031]

1

N08=[A =T, Bz—n, Condition =[Cot(0) =21, Quest =[Cos(0) + Sin(e)]}, ,{
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D ERYIEY AN CIVIHIED 0:0:0:0:0:0.0:0:0:0:0.0.0:0:0:0.0.0.0:0:0:0:0.0.0:0:0:0.0.0.0:0:0:0.0.0.0.0:0:0:0.0.0:0:0:0.:0.0.0.0:0.0:0.0.0:0:0:0:0.0:0:0:0:0.:0.0.0.0:0:0.:0.0:0:0:0:0.:0.0:0:0:0:0.0 (U SYAEI W IVICT T [0 10 1S 1250 ¢
TrigonometryExercise3 for No.14276

i R 517
I="— 6= ] _
2 4 1=180° 6=(-945)°
PYRA I 2=135°  .7=(-1410)°
4 3 3=(-240°  .8=2280°
K 291 o
Nol=| 3=— 8= ,No2 = o 270
6 6 4=(330° 9=|—
Y T o
4:; 9=4 . 99()
5=(-2250)° 10=|-—
15n L T J |
S= 10=35
L 2 J

No3 =| Conditionl =[Tan(0) < 0], Condition2 = Sln(e):7 , Quest =Cos(0) |, , y

5

No4 = [ Conditionl =[Tan(0) = 5], Condition2 = [Sec(0) < 0], Quest =Sin(0)], , [ () }

N05:{A =0,B =§, Condition =[Csc(0) = 3], Quest =[Cot(0) + Sec(e)]}, ,[

| IS

3n -2
No6:[A ZT’B: 2 t, Condition :[Sin(G) =;}, Quest =[Cot(0) + Cos(e)]}, ,{

N07=[A zg,B: n, Condition z[Sec(e) :§}, Quest =[Cot(0) + Sin(e)]}, ,[

A== ontin=| co0)-2 | | [
No8 = A=n,B=T, Condition = Cos(9)=7 , Quest =[Tan(0) +Csc(0)] |, ,|
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(IR R N NG
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TrigonometryExercise3 for No.14380

37m
I=mn 6=-— _ _
3 1=270°  .6=(-1485)°
PYNLLE L 2=150°  .7=2130°
6 4

3=(-225)° .8=2100°

3n &S m
Nol=| 3= E=—

— , No2 = . 90 )
4 6 4=240°  9=|—
T

=T gy o
- 3 : B o B 450

5=1440°  10=
25n L T/
S5== 10=-55

1
No3 = [ Conditionl = {Cos( 0)= 5}, Condition2 =[Sin(0) < 0], Quest = Tan( 9)}, ,

B

No4 = [ Conditionl = [ Tan(0) =-6], Condition2 = [0 < Sin(0) ], Quest = Sec(0)], , [

No5 z[A =0,B zg, Condition =[Sin(9) :%}, Quest =[Sec(0) + Tan(e)]}, ,[

| IS

3n 7
No6 = {A =mn,B :7, Condition = [Tan(e) =5}, Quest =[Csc(0) — Cos(@)]}, ,

1

|
|

3 3 ! )
No8 =[A =7, B =2 n, Condition =[Cos(9) =5}, Quest =[Cot(0) + Csc(e)]}, ,[—(}

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

N07=[A zg,B =1, Condition =[Sin(9) 25}, Quest =[Sec(0) + Tan(e)]}, ,[

[Page = 0033]



):9:9:9:9:9:9:9.9:9.9.9.9:9.9:9.9:9.9:9.:9:9.9:9.0.:9.9:9:0:9:0:9:0:9:0:0:0:9:0:9:0.:9:0.9:0.9.9.9.0.9.0.9:0.9.0.9:0.9:9.9:9.0:9.9:9.9:9:9:9:9:9:0:0:0:0:0.:9:9.9:0.9.0.9.9.9.0.9.0.9.0.9:0.9.0.9:0.9:0.0:0.0:0.0:0.9:0:9:0:9:0:9:0.0.0:0.¢
TrigonometryExercise3 for No.14393

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXKX XXX KKK KKK KKK KKK KKK KKK LXK KX KK KKK KKK KKK KKKKKKKXMS/1-6700303-00034XX

i T 371 |
I=— 6= i} )
2 3 1=180° .6 =2460°
2", 33T 2=135° . 7=(-2190)°
6 3=60° 8 =12835°
77 41 & o
Nol=| 3=—""" 8=- ,No2 = o 270
4 4 4=(-330) 9=|—
T
4——5—Tc 9=35 0
A== . ) ) (900
5=(-1080)° .10=|-——
17 r L T
5=c 10=-15
. 2 ]

5

No3 :{Condition] = {COS(G) Zi}, Condition2 = [Sin(0) < 0], Quest = Tan(e)}, ’[ ( }

5

No4 = [ Conditionl = [ Tan(0) =-2], Condition2 =[0 < Cos(0)], Quest =Csc(0)], , [ .

~

N05=[A=O,B=£,Condition:[Cot(9)=2],Questz[Csc(O)—Cos(e)]}, ,[
Noéz[A =§, B = n, Condition :[Sin(e) =ﬂ Ouest = [Tan(0) + Cos(e)]}, [
3n 9 .
N07=[A:7,B=2n,Conditionz[Sec(G)zz},Questz[Cot(9)+Sln(9)]}, ,[
3

No§ = [A _n, B= 7” Condition = |:COS(9) =ﬂ, OQuest = [ Csc(0) — Tan(e)]}, , {

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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TrigonometryExercise3 for No.14417

13 7w
[=— 6= . .
2 4 1=270° 6=2820°
Lo Am o 227 2=(-120°  .7=1575°
6 3 3=(-45)°  .8=(-2130)°
47 531 o
Nol=| 3=—" 8=- ,No2 = o 180
3 6 4=(-210) 9=|—
5n o
5=(-2520° .10=|-—
15w L T )
5= 10=55
. 2 ]

N

53

3
No3 = [ Conditionl = [Tan(0) < 0], Condition2 = [ Sin(0) = —} Quest = Cos( 9) y

N

No4 = [ Conditionl = [ Tan(0) = -1], Condition2 =[Csc(0) < 0], Quest = Csc(0)], [—(}

|

No5 = {A =0,B= g, Condition = [Cot(e) =g} Quest=[Cos(0) — Sln(e)] , [

s -3
Nob6 = [A = 5, B =m, Condition = {Cot(e) = Z}’ Quest =[Sec(0) — Csc(e)] , [

|
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No7=[A :32—R,B =2 n, Condition :[Tan(e) =§}, Quest =[Cos(0) — Csc(e)]} ,[

= <:\
NN,

N08:[A=R,B=37n,Condition=[Cos(9):_2} Quest = [Sin(0) — cOt(e)] {
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